
 EDENA 3 CLASSIC 

  
Repère Référence Désignation Quantité 

1 SN9079260 B.A.F.BG5005 PREST/PROFIT 1,0000 

1 SN9079270 BOITE A FUMEES BG5006 PRESTIGE/PROFIT 1,0000 

1 SN9079280 B.A.F. BG 5007 PREST/PROFIT 1,0000 

1 SN9079290 B.A.F.BG5008 PREST/PROFIT 1,0000 

1 SN9079300 B.A.F.BG5009 PREST/PROFIT 1,0000 

1 SN9079310 B.A.F.BG5010 PREST/PROFIT 1,0000 

1 SN9079320 B.A.F.BG5011 PREST/PROFIT 1,0000 

1 SN9079330 B.A.F.BG5012 PREST/PROFIT 1,0000 

1 SN9079340 BOITE A FUMEE BG5013 PRESTIGE/PROFIT 1,0000 

2 SN9078944 TRAPPE BAF BG5005 RODIAM. 1,0000 

2 SN9078954 TRAPPE BAF BG5006 RODIAM. 1,0000 

2 SN9078964 TRAPPE B.A.F BG5007 RODIAM. 1,0000 

2 SN9078974 TRAPPE BAF BG5008 RODIAM. 1,0000 

2 SN9078984 TRAPPE BAF BG5009 RODIAM.PR 1,0000 

2 SN9078994 TRAPPE BAF BG5010 RODIAM. 1,0000 

2 SN9079004 TRAPPE DE BAGF BG5011 RODIAM. 1,0000 

2 SN9079014 TRAPPE BAF BG5012 RODIAM. 1,0000 

2 SN9079024 TRAPPE B.A.F BG5013 RODIAM. 1,0000 

3 SN9205320 FEUTRE CERAMIQUE 20X3 (LE M) 1,0000 

4 SN9094094 COLLERETTE ALUMINIUM 1,0000 

4 SN9094104 COLLERETTE ALUMINIUM 1,0000 

4 SN9094114 COLLERETTE ALUM 1,0000 

4 SN9094124 COLLERETTE ALUMINIUM 1,0000 

5 S17070530 CALORIFUGE DESSU.5A12 PROFI.PR 1,0000 

5 S17070531 CALORIFUGE DESSU.5013 PROFI.PR 1,0000 

6 S17880548 SACHET VISSERIE BAF PROFIT 3 P.R 1,0000 

        

        

        

        

        

        

        

        

1/19 



  

 EDENA 3 CLASSIC

  

   

2/19 



  

 EDENA 3 CLASSIC

  

   

3/19 



  

 EDENA 3 CLASSIC 

  
Repère Référence Désignation Quantité 

1 SN9112360 TUBE DISTRI. GAZ 5005 T 1,0000 

1 SN9112370 TUBE DISTRI. GAZ 5006 T 1,0000 

1 SN9112380 TUBE DISTRI.GAZ 5007 T 1,0000 

1 SN9114580 TUBE DISTRI.GAZ 08-T 1,0000 

1 SN9114590 TUBE DISTRI.GAZ 09-T 1,0000 

1 SN9114600 TUBE DISTRIBUT.GAZ 10-T 1,0000 

1 SN9114610 TUBE DISTRI.GAZ 11-T 1,0000 

1 SN9114620 TUBE DISTRI.GAZ 12-T 1,0000 

1 SN9114630 TUBE DISTRI.GAZ 13-T 1,0000 

1 SN9126090 BOUCHON FEM.DOP N.300 3/4 1,0000 

2 SN9030000 PRISE DE PRESSION 1/8 G 1,0000 

3 SN9089459 PLAQUE SUPT BRUL.05 PROF.PR 1,0000 

3 SN9089469 PLAQUE SUPT.BRUL.06.PROF.PR 1,0000 

3 SN9089479 PLAQUE SUPT.BRUL.07 PROF.PR 1,0000 

3 SN9089489 PLAQUE SUPT.BRUL.08 PROF.PR 1,0000 

3 SN9089499 PLAQUE SUPT.BRUL.09 PROF.PR 1,0000 

3 SN9089509 PLAQUE SUPT.BRUL.10 PROF.PR 1,0000 

3 SN9089519 PLAQUE SUPT.BRUL.11 PROF.PR 1,0000 

3 SN9089529 PLAQUE SUPT.BRUL.12 PROF.PR 1,0000 

3 SN9089539 PLAQUE SUPT.BRUL.13 PROF.PR 1,0000 

4 SN9230879 PLAQUE VEILLEUSE PROFIT PR 1,0000 

5 SN9025119 ENS.VEILLEUSE PROFIT P.R 1,0000 

6 S17071016 ELECTRODE VEILLEUSE P.R 1,0000 

7 SN9050020 THERMOCOUPLE RS 1,0000 

8 S17071017 TUBE VEILLEUSE PROFIT P.R 1,0000 

9 S17405511 KIT GAZ NATUREL G20 PROFIT FR 1,0000 

9 S17405512 KIT GAZ NATUREL 25 1,0000 

9 S17405513 KIT GAZ PROPANE"CLASSIC" 1,0000 

10 S17880660 SACHET RACCORDS GAZ/VANNE PROFIT 1,0000 

11 SN9107439 RACCORD GAZ/VANE PROF.08 PR 1,0000 

11 SN9107449 RACCORD GAZ/VANE PROF.09 PR 1,0000 

11 SN9107459 RACCORD GAZ/VANE PROF.10 PR 1,0000 

11 SN9107469 RACCORD GAZ/VANE PROF.11 PR 1,0000 

11 SN9107479 RACCORD GAZ/VANE PROF.12 PR 1,0000 

4/19 



  

 EDENA 3 CLASSIC 

  
Repère Référence Désignation Quantité 

11 SN9107489 RACCORD GAZ/VANNE PROF.13 PR 1,0000 

12 SN9089059 ENS.PORTE BRUL.05 PROF.PR 1,0000 

12 SN9089069 ENS.PORTE BRUL.06 PROF.PR 1,0000 

12 SN9089079 ENS.PORTE BRUL.07 PROF.PR 1,0000 

12 SN9089089 ENS.PORTE BRUL.08 PROF.PR 1,0000 

12 SN9089099 ENS PORTE BRUL.09 PROF.PR 1,0000 

12 SN9089109 ENS PORTE BRUL.10 PROF.PR 1,0000 

12 SN9089119 ENS PORTE BRUL.11 PROF.PR 1,0000 

12 SN9089129 ENS.PORTE BRUL.12 PROF.PR 1,0000 

12 SN9089139 ENS.PORTE BRUL.13 PROF.PR 1,0000 

13 SN9020320 BRULEUR GAZ BRAY 138NR 1,0000 

14 SN9089684 BANDE BRUL BG5005 L=285 1,0000 

14 SN9089694 BANDE BRUL.BG5006 L=362 1,0000 

14 SN9089704 BANDE BRUL.BG5007 L=439 1,0000 

14 SN9089714 BANDE BRUL.BG5008 L=516 1,0000 

14 SN9089724 BANDE BRUL.BG5009 L=600 1,0000 

14 SN9089734 BANDE BRUL.BG5010 L=678 1,0000 

14 SN9089744 PLAQUE BRUL.BG 5011 L=756 1,0000 

14 SN9089754 PLAQUE BRUL.BG 5012 L=834 1,0000 

14 SN9089764 BANDE BRUL.BG5013 L=923 1,0000 

15 SN9230514 PLAQUE RADIAN ALUM 5005 1,0000 

15 SN9230524 PLAQUE RADIAN ALUM.5006B 1,0000 

15 SN9230534 PLAQUE RADIAN ALUM.5007 1,0000 

15 SN9230544 PLAQUE RADIAN ALUM.5008 1,0000 

15 SN9230554 PLAQUE RADIAN ALUM.5009 1,0000 

15 SN9230564 PLAQUE RADIAN ALUM.5010 1,0000 

15 SN9230574 PLAQUE RADIAN ALUM.B=792 1,0000 

15 SN9230584 PLAQUE RADIAN ALUM.5012 B= 873 1,0000 

15 SN9230594 PLAQUE RADIAN ALUM.5013 B=954 1,0000 

16 S17071018 ISOLANT PORTE BRUL.05 PROF.PR 1,0000 

16 S17071019 ISOLANT PORTE BRUL 06 PROF.PR 1,0000 

16 S17071020 ISOLANT PORTE BRUL.07.PROF.PR 1,0000 

16 S17071021 ISOLANT PORTE BRUL.08 PROF.PR 1,0000 

16 S17071022 ISOLANT PORTE BRUL.09 PROF PR 1,0000 

5/19 



  

 EDENA 3 CLASSIC 

  
Repère Référence Désignation Quantité 

16 S17071023 ISOLANT PORTE BRUL.10 PROF.PR 1,0000 

16 S17071024 ISOLANT PORTE BRUL.11 PROF.PR 1,0000 

16 S17071025 ISOLANT PORTE BRUL.12 PROF.PR 1,0000 

16 S17071026 ISOLANT PORTE BRUL.13 PROF.PR 1,0000 

17 SN9190150 PLATINE DE MICA 50X50 1,0000 

18 S17007736 BLOC GZZHONEYW.V4400 +REG. 1,0000 

19 SN9083209 SUPPORT PIEZO PROFIT 3. PR 1,0000 

20 S17071027 ALLUMEUR PIEZO PROFIT 3 P.R 1,0000 

21 S17071028 SACHET INJECTEUR VEIL.0,5 PROFI.PR 1,0000 

21 S17071029 KIT GAZ P37 20 A 22 PRESTIGE 1,0000 

22 S17880648 SACHET VIS.BRUL.PROFIT 3 PR 1,0000 

        

        

        

        

        

        

        

        

        

        

        

        

        

        

        

        

        

        

        

        

        

        

        

6/19 



  

 EDENA 3 CLASSIC

  

   

7/19 



  

 EDENA 3 CLASSIC

  

   

8/19 



  

 EDENA 3 CLASSIC 

  
Repère Référence Désignation Quantité 

1 S17800856 ELEMENT EXTREMITE G.XG3 1,0000 

3 S17800846 ELEMENT BG50 EXTREMITE D.XG3 1,0000 

4 SN9270000 TUBE DISTRIBUTION DEPART 5005 1,0000 

4 SN9270010 TUBE DISTRI DEPART BG 5006 1,0000 

4 SN9270020 TUBE DISTRIB.DEPART BG5007 1,0000 

4 SN9270030 TUBE DISTRIBUTION CLASSIC 08 1,0000 

4 SN9270040 TUBE DISTRIBUT.DEPART BG5009 1,0000 

4 SN9270050 TUBE DISTRIBUT.DEPART BG5010 1,0000 

4 SN9270060 TUBE DISTRIBUT.DEPART TYPE 315 1,0000 

4 SN9270070 TUBE DISTRI DEPART BG5012 1,0000 

4 SN9270080 DEPART CHAUDIERE TYPE 320 1,0000 

5 SN9270160 TUBE DISTRIBUT.RETOUR 05 1,0000 

5 SN9270170 TUBE RET.DISTRI 06 1,0000 

5 SN9270180 TUBE RETOUR DISTRIBUTION 07 1,0000 

5 SN9270190 TUBE RET. DIST. O8 1,0000 

5 SN9270200 TUBE RET.DISTRI 09 1,0000 

5 SN9270210 TUBE RETOUR DISTRIBUTION 10 1,0000 

5 SN9270220 TUBE RET.DISTRI 11 1,0000 

5 SN9270230 TUBE RET.DISTRI 12 1,0000 

5 SN9270240 TUBE RETOUR DISTRIBUTION 13 1,0000 

6 SN9083564 PLAQUE SERRAGE 05 1,0000 

6 SN9083574 PLAQUE SERRAGE 06 1,0000 

6 SN9083584 PLAQUE SERRAGE 07 1,0000 

6 SN9083594 PLAQUE DE SERRAGE 08 1,0000 

6 SN9083604 PLAQUE SERRAGE 09 1,0000 

6 SN9083614 PLAQUE SERRAGE 10 1,0000 

6 SN9083624 PLAQUE SERRAGE 11 1,0000 

6 SN9083634 PLAQUE SERRAGE 12 1,0000 

6 SN9083644 PLAQUE SERRAGE 13 1,0000 

7 SN9170980 AXE FILETE M10X370 BG5005 1,0000 

7 SN9170990 AXE FILETE M10X450 BG5006 1,0000 

7 SN9171000 AXE FILETE M10X530 BG5007 1,0000 

7 SN9171010 AXE FILETE M10X610 BG5008 1,0000 

7 SN9171020 AXE FILETE M10X695 BG5009 1,0000 

9/19 



  

 EDENA 3 CLASSIC 

  
Repère Référence Désignation Quantité 

7 SN9171030 AXE FILETE M10X775 BG5010 1,0000 

7 SN9171040 AXE FILETE M10X855 BG5011 1,0000 

7 SN9171050 AXE FILETE M10X935 BG5012 1,0000 

7 SN9171180 TIRANT M10 X 1015. BG5013 1,0000 

9 SN9171150 GOUJON PRISON. M8X20 DIN 8,0000 

12 SN9205350 FEUTRE CERAMIQUE 30X3 (LE M) 1,0000 

13 SN9125010 BOUCHON N°290 1/2 15X21 2,0000 

14 SN9010050 ROBINET REMPLIS./VIDANGE 3/4 1,0000 

15 SN9115030 GAINE THERMOSTAT 1/2 GAZ L=140 2,0000 

15 SN9183020 BAGUE DE SERRAGE SCO 2,0000 

16 SN9000350 BROSSE RAMONAGE G.M SER.3 1,0000 

        

        

        

        

        

        

        

        

        

        

        

        

        

        

        

        

        

        

        

        

        

        

        

10/19 



  

 EDENA 3 CLASSIC

  

   

11/19 



  

 EDENA 3 CLASSIC

  

   

12/19 



  

 EDENA 3 CLASSIC 

  
Repère Référence Désignation Quantité 

1 S19235368 ENS.COTE DROIT CLASSIC 3 PR 1,0000 

2 SN9072759 ACCROCHAGE PORTE PROFIT P.R 1,0000 

3 SN9072779 SUPPORT D.DE PORTE PROFIT P.R 1,0000 

4 S17071662 FIL MASSE CREATIS/EDENA 3 1,0000 

5 S19235378 ENS.COTE G.CLASSIC 3 P.R 1,0000 

6 SN9072769 SUPPORT G.DE PORTE PROFIT P.R 1,0000 

11 S17880658 SACHET ETRIER M6 PROFIT PR 4,0000 

12 S17880659 SACHET VIS.COLLIER A RIVET PR 1,0000 

        

        

        

        

        

        

        

        

        

        

        

        

        

        

        

        

        

        

        

        

        

        

        

        

        

        

13/19 



  

 EDENA 3 CLASSIC

  

   

14/19 



  

 EDENA 3 CLASSIC

  

   

15/19 



  

 EDENA 3 CLASSIC 

  
Repère Référence Désignation Quantité 

0 S17882850 BANDEAU BG5005 EUROPE PROFIT 1,0000 

0 S17882851 BANDEAU BG5006 PROFIT 1,0000 

0 S17882852 BANDEAU BG5007 PROFIT 1,0000 

0 S17882853 BANDEAU BG5008 PROFIT 1,0000 

0 S17882854 BANDEAU BG5009 PROFIT 1,0000 

0 S17882855 BANDEAU BG5010 PROFIT PR 1,0000 

0 S17882856 BANDEAU BG5011 PROFIT 1,0000 

0 S17882857 BANDEAU BG 5012 PROFIT 1,0000 

0 S17882858 BANDEAU BG5013 PROFIT 1,0000 

1 S17934319 PANNEAU RACT.BAND.PROF.306 1,0000 

1 S17934329 PANNEAU RACT.BAND.PROF.307 1,0000 

1 S17934339 PANNEAU RACT.BAND.PROF.308 1,0000 

1 S17934349 PANNEAU RACT.BAND.PROF.309 1,0000 

1 S17934359 PANNEAU RACT.BAND.PROF.310 1,0000 

1 S17934369 PANNEAU RACT.BAND.PROF.311 1,0000 

1 S17934379 PANNEAU RACT.BAND.PROF.312 1,0000 

1 S17934389 PANNEAU RACT.BAND.313 PROF.PR 1,0000 

2 S17934598 SUPPORT BORNIER PROFIT 5/7 P.R 1,0000 

3 S17934396 FACADE BG5005 PROFIT GRIS 1,0000 

3 S17934406 FACADE BG5006 PROFIT GRIS 1,0000 

3 S17934416 FACADE BG5007 PROFIT GRIS 1,0000 

3 S17934426 FACADE EDENA 3 CLASSIC 8 1,0000 

3 S17934436 FACADE BG5009 PROFIT GRIS 1,0000 

3 S17934446 FACADE BG5010 PROFIT GRIS 1,0000 

3 S17934456 FACADE BG5011 PROFIT GRIS 1,0000 

3 S17934466 FACADE BG5012 PROFIT GRIS 1,0000 

3 S17934476 FACADE BG5012 PROFIT GRIS 1,0000 

5 S17007030 THERMOSTAT RAK 51.2.2932 1,0000 

6 S17072186 SACHET MANETTE THERMOSTAT FROFI.3 P.R 1,0000 

7 S15804072 INTERRUPTEUR ORANGE FH 1,0000 

8 SN9005060 THERMOMETRE D=56 CAP.L=600 1,0000 

9 S170C56FA THERMOSTAT DE SECURITE TG400 (anc.lib:THERMOS.RAK 76.1/3433) 1,0000 

10 SN7261460 S/ENS.TKO/CONNECT.HON.2PL 1,0000 

16/19 



  

 EDENA 3 CLASSIC 

  
Repère Référence Désignation Quantité 

11 S17071669 CABLE VANNE BG500 5A13 PROF 1,0000 

12 S17072187 KIT 2 SERRE CABLE ITW P.R 2,0000 

13 S17880569 SACHET VIS.BANDEAU PROFI.PR 1,0000 

        

        

        

        

        

        

        

        

        

        

        

        

        

        

        

        

        

        

        

        

        

        

        

        

        

        

        

        

        

        

        

17/19 



  

 EDENA 3 CLASSIC

  

   

18/19 



  

 EDENA 3 CLASSIC

  

   

19/19 


